### **Integrated Combined Crew Booking Lobby**

### Gooty

#### Salient Features.

- Gooty is one of the major freight trains ordering depot in Guntakal division.
- On average 52 crews are provided per day (Diesel-37, AC-15).
- Directions of working: GY-TNGL-GY, GY-NRE-GY, GY-RC-GY, GY-DHNE-GY, GY-DMM-GY, GY-NDL (Via YA)-GY.
- Chief Crew Controller is the In-charge of Lobby.
- Advanced Crew management software by CRIS is installed at Gooty lobby for booking of Crews.
- Crews are booked on CRIS/CMSthrough second call system to minimizing pre departure detention of Crew.
- KIOSK is integrated with bio-metric thumb scanner, camera and fuel cell sensor based breathanalyzer for Crew Signing"ON "and" Off ".
- All the statements pertaining to payroll and statistics are generated through CMS (CRIS).
- Crew lobby and lounge are air conditioned.
- 48" LED monitor available for displaying sectional caution orders.
- Back light Scrolling Board is available in Lounge for display of safety posters and literature.
- Scale Check of Running Staff

Category	Sanction	Actual	Vacancy	Excess
LPG	165	147	18	*
ALPs	160	197	*	37
LP(Shunting)	31	19	12	*

Awards: Received 1<sup>st</sup> best maintained Dsl Crew booking lobby in SC Railway during the year 2018-2019.

## High lights of good work done at Lobby/GY as a precautionary measure to avoid spreading of COVID-19

- Foot pedal operated hand sanitizing stand kept in lobby for individual hand sanitizing.
- Thermal screening of each individual entering in to lobby will be done by On duty CC.
- Sanitizing of lobby done by out sourcing staff daily with sodium hypochlorite and by HI staff alternate day.
- Individual sanitization kits (100 ml sanitizer bottle,soap,mask,handgloves,tissue paper) were issued to crew while signing On.
- Adequate hand wash liquids were provided at lobby bath rooms and toilets of lobby.
- Locomotive and Brake van sanitizing was done regularly by out sourcing staff.
- Crews were made U turn to avoid staying at Running Room.





### Charitable work done during COVID-19

S NO	NAME	DESG	TYPE OF SERVICE RENDERED AT GOOTY DURING LOCK DOWN	Amount
1	G UMA MAHESWAR	CCC/GY	Distributed provisions kits containing Rice dal ,oil ,atta ,etc worth of Rs 555/- each kit for 20 families ,distributed food and water packets to 70 nos,distributed 75 home made masks to poor people.	₹ 12,500.00
2	D SURESH KUMAR	CLI/GY	Distributed provisions kits containing Rice dal ,oil ,atta ,etc worth of Rs 555/- each kit for 18 families.	₹ 10,000.00
3	A YELLAPPA	CLI/GY	Distributed provisions kits containing Rice dal ,oil ,atta ,etc worth of Rs 555/- each kit for 05 families.	₹ 2,775.00
4	D WILSON	CLI/GY	Distributed provisions kits containing Rice dal ,oil ,atta ,etc worth of Rs 555/- each kit for 05 families.	₹ 2,775.00
5	NAND KISHORE MEENA	CLI/GY	Distributed provisions kits containing Rice dal ,oil ,atta ,etc worth of Rs 555/- each kit for 02 families.	₹ 1,110.00
6	L BALUSAMY	CLI/GY	Distributed provisions kits containing Rice dal ,oil ,atta ,etc worth of Rs 555/- each kit for 02 families.	₹ 1,110.00
7	MOHAN RAO S	LP/GY	Distributed provisions kits containing Rice dal ,oil ,atta ,etc worth of Rs 325/- each kit for 35 families.	₹ 11,375.00
8	K SEKHAR BABU & OTHER RUNNING STAFF/GY SCRMU	LP/GY	Distributed Rs 1000/- cash each for out sourcing staff 30 nos (box boys ,sand boys, CTR data entry staff etc )of CCC/O/GY,30 sanitizing kits to Local police staff and 30 sanitizing kits to GY municipal staff	₹ 38,000.00
9	P KRISHNA MOHAN & Other Running staff /GY SCRES	LP/GY	Distributed provisions kits containing Rice dal ,oil ,atta ,etc worth of Rs 500/- each kit forbox boys ,sand boys, CTR data entry,safaiwalas staff etc 50 families.	₹ 25,000.00
			Total amount	₹ 1,04,645.00

# Charitable work done during COVID-19 (Photo Gallery)











